
 

    
 
 
1)  Tabloyu doldurun.  

 
2)  Tabloyu doldurun.  

 
 
 

  Fiziksel Model Transfer Fonk Kararlilik durumu 
    y(n)=0.3y(n-1)+x(n) 
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y(n)= 0.5y(n-1) +0.4y(n-2) +x(n) 
 

  

 
y(n)= 0.4y(n-1) +0.3y(n-2) +x(n-2) 
 

  

 
y(n)= 2y(n-1) +3y(n-2) +x(n)+x(n-2) 
 

  

 

  Fiziksel Model Transfer Fonk Kararlilik durumu 
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 İşaret Analizi Ödev No       8  
Adı Soyadı:    
Öğrenci No:   0 5 0  0     

0 0    0  0 0 
1 1    1  1 1 
 2    2  2 2 
 3    3  3 3 
 4    4  4 4 
 5    5  5 5 
 6    6  6 6 
 7    7  7 7 
 8    8  8 8 
 9    9  9 9 


